
Adding Decimals to Hundredths (B)

Calculate each sum.

5.79 + 1.80 = 4.35 + 2.76 =

9.97 + 3.55 = 6.39 + 2.60 =

8.40 + 4.78 = 8.22 + 8.12 =

4.75 + 4.61 = 7.06 + 1.77 =

7.86 + 2.66 = 4.33 + 3.05 =

3.65 + 1.01 = 6.83 + 1.99 =

6.93 + 4.82 = 8.47 + 1.69 =

9.81 + 1.73 = 7.60 + 2.83 =

9.79 + 8.60 = 6.97 + 5.69 =

8.08 + 6.76 = 3.01 + 1.96 =
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Adding Decimals to Hundredths (B) Answers

Calculate each sum.

5.79 + 1.80 = 7.59 4.35 + 2.76 = 7.11

9.97 + 3.55 = 13.52 6.39 + 2.60 = 8.99

8.40 + 4.78 = 13.18 8.22 + 8.12 = 16.34

4.75 + 4.61 = 9.36 7.06 + 1.77 = 8.83

7.86 + 2.66 = 10.52 4.33 + 3.05 = 7.38

3.65 + 1.01 = 4.66 6.83 + 1.99 = 8.82

6.93 + 4.82 = 11.75 8.47 + 1.69 = 10.16

9.81 + 1.73 = 11.54 7.60 + 2.83 = 10.43

9.79 + 8.60 = 18.39 6.97 + 5.69 = 12.66

8.08 + 6.76 = 14.84 3.01 + 1.96 = 4.97
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